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@) FEOMITHRBAERA D LR : c Rmax

cRmax=min[cRmax (n), cRmax (s), cRmax (t), cRmax (b), cRmax (h) ] [f41. 2-5]
DcRmax (n) : I & 2 T EBEFA D EIR [f1.2-6]
«n>nH OFE cRmax (n) =cR250
cn=<=nH OFAH : (7272 L. cRmax (n) =cR30)

n=(n—nL)/(nH—nL)
n =Ns/(b + D+ Fc)

WG s<100 OFAH— nL=0.25, nH=0.5
WG s>100 OFH— nL=0.20, nH=0.4
@cRmax (s) : HAKIGE I X 5T RBERMA D LR (1. 2-7)
cctu/Fc>0.2 A - cRmax (s) =cR250
cctu/Fc=0.2 OE cRmax (s) =cR30
@cRmax (t) : BIIEEMHAC L 2 #HT R4 D LR [f1. 2-8]
cPt>1.0% OBFE - cRmax (t) =cR250
cPt=1.0% OBFE : cRmax (t) =cR30
@cRmax (b) : HHMINEIZ L DT K RERA D LR (1. 2-9]
«s/db>8 DA cRmax (b) =cR50
- s/db=8 DIEE : cRmax (b) =cR30
®cRmax (h) : WikR 312 L 2 PR RERA O LR [f1. 2-10]
*ho/D=2 DIFE : cRmax (h) =cR250
*ho/D>2 DOFE - cRmax (h) =cR30

(4) EAWHEDK REFEF A : Rsu

cca *cQmu<cQsu DA : Rsu= { (cQsu/cQmu-0. 3) /0. 7} « Rmy=R250 [ff1.2-11]
cca *cQmu=cQsu DL : Rsu=R250
ca =0.3+0. 7 (R250/Rmy) (1. 2-12]

- RO BITERER
R DOFEO T ERRE RIZT A 0 Rmy

Rmy= (ho/Ho) cRmy =R250 (7272 L. ho/Ho>1.0 ®O#4E . ho/Ho=1.0) [fF1.3-1]
* ho/D=3. 0DA - cRmy=cR150 [£+1. 3-2]
- ho/D=2. 0DIA - cRmy = cR250 X EIEBIEMR & 92
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c BABBREDOFE

Rsu—Rzs0 3.2.3(3) (e) (14) &
Ry —Raso
Ry:J@ DB A, JFAIE LT Ry=1/150
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Fc s ay s Y — hiREE 17.6]  [N/mni]
oy D ERRERATRE (1. AR, 2. D) 2| D 343 [N/mni]
sowy | ARTEREFORREIRE (1. S8, 2. DEE) | 1| Sl 294 [N/mni]
T HWHDOTF5E (P16) HWHOFF] X (P14) C1
Y Y2—-X2 Y2—-X2 Y2—-X2
& 4 B 1 1 [
P FESH FERA FESH KRR FESH FERA FESH KRR
b s AT R [em] 50 50 50 50 50 50 0 0
D s FE T AR [cm] 60 60 60 60 60 60 0 0
d AW [cm] 55 55 55 55 55 55 —— |  ———
J ST R SN [ B [em] 48 48 48 48 48 @8 - |
Ho  FENTEAEESTE [em] 260 260 260 260 260 260 0 0
ho L FENTE [cm] 260 260 260 260 100 100 0 0
N R A YA [kN] 3000 3000 1058 1058 1500 1500 0 0
FLE 1 (B A% 16 0 0 0 0 0 0 0 0
i) SR 2 (. A% 19 0 0 0 0 0 0 0 0
HIESA (R, A% 22 12 12 12 12 12 16 0 0
ag s ARk AW AR [ent] 46. 44 46. 44 46. 44 46. 44 46. 44 61.92 | —— | ——
Pg s Bk M [%] 1.548 1.548 1.548 1.548 1.548 2064 | —— | ——
SLE T (. A% 16 0 0 0 0 0 0 0 0
SloESkRn | R 2 (. A% 19 0 0 0 0 0 0 0 0
BIZek (e, A% 22 4 4 4 4 4 4 0 0
at s 5 RS A T T A [enf 15. 48 15. 48 15. 48 15. 48 15. 48 15.48 | —— |  ——
Pt : BIIESkAR %] 0.516 0.516 0.516 0.516 0.516 0.516 | —— | = ——-
AW FLER (PR, A% 9 2 2 2 2 2 2 0 0
IR | BIEER (B, A% 10 0 0 0 0 0 0 0 0
s vy F@ 200 200 200 200 200 200 0 0
aw Al A W e A [ent] 1.28 1.28 1.28 1.28 1.28 .28 | —— | @——
Pw LB AMTHTR T L [%] 0.128 0.128 0.128 0.128 0.128 0.128 | —— | ——
Nmax s UL RS RIEEE | [kN] 6873 6873 6873 6873 6873 7404 #VALUE! #VALUE!
Nmin s LS RIS SRR | [kN] -1593 -1593 -1593 -1593 -1593 -2124| #VALUE! HVALUE!
6o s R A ) [N/mnd] 8. 00 8.00 3.53 3.53 5. 00 50 | —— | ——
N 5 S $90 A S =0. 4bDFe | [kN] 2112 2112 2112 2112 2112 2112 0 0
M/Q tho/2& LTEW [cm] 130 130 130 130 50 50 0 0
M/Qd LA AU 2.36 2.36 2.36 2.36 1.00 .00 —— |  ———
ghif 1) K 465 465 NN 7 N<N 5 N<N 7 NNy | —= | ——
wREmmE [2) X [kN-m]| N>Np N>N 7 509 509 577 577 | —— | @ ———
:Mu [3) K N=0 N=0 N=0 N=0 N=0 N=0 | — | ——
Mu [kN * m] 465 465 509 509 577 577 | —— | ——
Qmu= ¥ Mu/ho [kN] 358 391 1154 ——
AW (1) =7 V—rE| [kN] 157 157 157 157 348 348| #VALUE! #VALUE!
DR | (2) WAWERMIE | [kN] 125 125 125 125 125 125| #VALUE! #VALUE!
: Qsu (3) #ih/)ms [kN] 193 193 85 85 120 120| #VALUE! #VALUE!
Qsu [kN] 475 475 368 368 594 594 | —— —
Qu=min (Qmu, Qs u) [kN] 358 368 594 0
tu=Qu/ (b * j) [N/mni] 1.49 1.53 2.47 | —

O #F | cRmax(n) i 1 =Ns/(b - D+ Fc) 0.57 1/ 250 0.20 1/30 0.28 1/73 | —— 1/ —
HRER | cRmax (s) tu/Fe 0.08 1/30 0.09 1/30 0.14 1/3 | —— 1/ —
ADER | cRmax (1) Pt [%] 0.52  1/30 0.52  1/30 0.52 1/30 | -——- 1/ —

cRmax |cRmax(b): s/db (db:EffR) 9.09 1/50 9.09 1/50 9.09 1/50 | —— 1/ ——
cRmax (h) ho/D 4.33  1/30 4.33  1/30 .67  1/250 | —— 1/ —
cRmax DR E 1/ 250 1/ 50 1/ 250 1/ ————

QD S FEIRZETES : cRmy (ho/DEL V) 1/ 250 1/ 150 1/ 250 1/ ————

[©E 5. Qmu<Qsu L] QnudQsu CUHIERE | QmudQsu SR —— 0 —

OtEEOHE (ho/DOGERH) | —— > 2,00 SR > 2.00 Mg = 2,00 | ——- 2 2.00

OF:O T FRIRE M ZE A Rmy 1/ - 1/ 150 1/ 250 1/ —

OFOMEESSEK : ca | — 0.72 oo | —

Deco * uEQsuntblx | —— ? — 282 < 368 1154 =594 | —— ? —

@ A WrkE D& R I JE A K44« Rsu 1/ —— 1/ 164 1/ 250 1/ ——

@ AWTHED FE (14) & F= | F=  1.21 F=  0.80 F= ——
OHBEIRREIC X D WIERE - q (s£100—1.0, s>100—1. 1)|: 1.1 = 1.1 = 1.1 = —
O@FED BT A : cRmp 1/ 109 1/ — 1/ — 1/ —
DK JHZETEA + cRmu=cRmy+cRmp<cRmax 1/ 76 1/ —— 1/ —— 1/ ——
OO #& R ERZE A Rmu>1/250 1/ 250 1/ — 1/ —— 1/ ——
ADRmu & Ry D Frig Rmu < Ry=1/150 Rmu ? Ry=1/150 Rmu ? Ry=1/150 Rmu ? Ry=1/150

G iFHED F & (15) AXiZ (16) R F=  1.00 F= 1 F= 1 F=  ——

EEZTV :

(1. 12]ROBRCH 2> T, TABEBB LA Pw21.20[%]0 & &iX, Pw=1.20[%]1% EfRE L1z,

diZ¥D—5cm& L1z,

[f1. 1-2] RO 72> Tk, HEF RS HER 0 0>8N/nnf DFEIE, o00=8N/mnf & L7z,
[ 1-21ROBERICH > THE, BIBASRVE  WQ - DB 1UTFOLEIINFT1EL, 3LUEDLEIIELE,




